

$\frac{-b}{2a} = -1 \Rightarrow b = 2a \mid m = -1 \Rightarrow a - b + c = 9 \Rightarrow -a + c = 9 \mid m = 2 \Rightarrow 9a + 2b + c = 1$   
 $\left. \begin{array}{l} 19a = -1 \\ c = -\frac{1}{19} \end{array} \right\} \textcircled{1}$   
 $y = -\frac{1}{19}x^2 - m + \frac{14}{19}$

$y = 2m^2 + m + 4 = 0 \Rightarrow m^2 - 2(m+1) > 0 \Rightarrow m^2 - 2m - 2 > 0$   
 $\Rightarrow (m+2)(m-1) > 0 \Rightarrow \frac{-2}{+} \mid \frac{-1}{-}$   
 $\Rightarrow m \in (-\infty, -2) \cup (1, +\infty) \textcircled{I}, S = -\frac{m}{1} > 0, \textcircled{III} \frac{m+4}{1} > 0 \Rightarrow m > -4 \Rightarrow -4 < m < -2$   
 $m < 0 \textcircled{II}$

$2m^2 + (2m-1)m + 2 - m = 0 \Rightarrow 2m^2 + 1 - 2m - 2(4-m) > 0 \Rightarrow 2m^2 + 1 - 2m - 8 + 2m > 0$   
 $\Rightarrow 2m^2 - 7 > 0 \Rightarrow m = \frac{-1 \pm \sqrt{1-2(-7)}}{2} = \frac{-1 \pm \sqrt{15}}{2}$   
 $m \in (-\infty, -\frac{1+\sqrt{15}}{2}) \cup (-\frac{1+\sqrt{15}}{2}, +\infty) \textcircled{I}$   
 $\textcircled{II} \alpha + \beta = \frac{1}{\alpha\beta} \Rightarrow -\frac{2m+1}{1} = \frac{1}{\frac{1}{1-m}} \Rightarrow 2m^2 - 2m - 1 = 0 \Rightarrow (2m-1)(m+1) = 0 \Rightarrow m = \frac{1}{2} \textcircled{II}$

$2m^2 - m - 2 = 0 \Rightarrow S = 1, P = -2 \mid m_1^2 + m_1^2 + \frac{1}{m_1} + \frac{1}{m_1} = (m_1 + m_1)^2 - 2(-2)(m_1 + m_1) + \frac{4 + m_1}{m_1 m_1}$   
 $(m_1^2 + \frac{1}{m_1})(m_1^2 + \frac{1}{m_1}) = (m_1^2 + m_1^2) + \frac{1}{m_1} + \frac{1}{m_1} = 2m_1^2 + \frac{2}{m_1}$   
 $= -4(-2) + 4 - \frac{1}{-2} = -\frac{21}{2}$   
 $y = m^2 - \frac{21}{2}m - \frac{21}{2} \textcircled{III}$

$\sqrt{m^2} = t \Rightarrow (t + \frac{1}{t} + 1)(t-1) = t^2 - \frac{1}{t} \Rightarrow \sqrt{m^2} \cdot \frac{1}{\sqrt{m^2}} = t \sqrt{m} \Rightarrow \frac{\sqrt{m^2-1}}{\sqrt{m^2}} = t \sqrt{m}$   
 $\Rightarrow m^2 - 1 = t^2 m$   
 $m^2 - t^2 m - 1 = 0 \Rightarrow S = t \textcircled{IV}$

$2m^2 - 2m + 2 = 0, \alpha = 2\beta \Rightarrow P = \frac{2}{\alpha} \Rightarrow 2\beta^2 = \frac{2}{\alpha} \Rightarrow \beta^2 = \frac{1}{\alpha} \Rightarrow \beta = \frac{1}{\sqrt{\alpha}}$   
 $\Rightarrow S \begin{cases} \frac{1}{\sqrt{\alpha}} = \frac{\alpha}{\sqrt{\alpha}} \rightarrow \alpha = 1 \\ -\frac{1}{\sqrt{\alpha}} = \frac{\alpha}{\sqrt{\alpha}} \rightarrow \alpha = -1 \end{cases} \mid 1 - (-1) = 2$   
 $\Rightarrow \alpha \begin{cases} 2 \\ -2 \end{cases}$

$y = am^2 + (2+2a)m \Rightarrow a > 0 \textcircled{V}$   
 $\Delta \geq 0 \Rightarrow 9 + 2a^2 + 12a \geq 0 \Rightarrow (2a+3)^2 \geq 0$   
 $\Rightarrow a \neq -\frac{3}{2}$

$\textcircled{VI} S \geq 0 \Rightarrow \frac{-2+(-2a)}{a} \geq 0 \Rightarrow -\frac{2}{a} > a$   
 $\textcircled{1} \textcircled{2} \textcircled{3} \textcircled{4}$

$$y = -m^T - r_m + b, y = m^T + a x - r \Rightarrow \frac{-b}{r_m} = \frac{r}{-r} = \frac{-a}{r} \Rightarrow \alpha = r$$

$$\begin{aligned} y + 1 &= -\cancel{a^T} - \cancel{r_m} + b \\ 1 &= \cancel{a^T} + \cancel{r_m} - r \end{aligned} \quad (1)$$

$$r = -r + b \Rightarrow b = 2$$

$$ab = r \times 2 = 1$$

$$r a m^T + a m - 1 = 0 \Rightarrow \frac{a}{r_m} = \frac{-1}{r} \Rightarrow \rho = \frac{-1}{r} = -r \quad \left. \begin{aligned} r_m^T a m + b = 0 \\ \Rightarrow S = \alpha + \frac{1}{r} + \beta + \frac{1}{r} = \frac{-1}{r} + \frac{1}{r} + \frac{1}{r} = \frac{-(r-\alpha)}{r} \Rightarrow \underline{\underline{a=1}} \end{aligned} \right\} \quad (9)$$

$$\rho = \left(\alpha + \frac{1}{r}\right) \left(\beta + \frac{1}{r}\right) = \alpha\beta + \frac{1}{r}(\alpha + \beta) + \frac{1}{r^2} = \frac{+b}{r} \Rightarrow -r + \frac{1}{r} \left(\frac{-1}{r}\right) + \frac{1}{r^2} = \frac{+b}{r} \Rightarrow b = -1$$

$$ab = -1 \times 1 = -1$$

$$\Rightarrow \begin{bmatrix} ab \\ 2 \end{bmatrix} = \begin{bmatrix} r \\ r \end{bmatrix} = -r$$

$$m^T + c m + i n = 0 \Rightarrow S = -1 \Rightarrow \alpha = -1 - \beta \quad (1) \quad \left. \begin{aligned} m^T + m - r m = 0 \\ S = -1 \Rightarrow \alpha = -1 - \beta \end{aligned} \right\} \quad (1), (2) \Rightarrow -1 - \beta = -1 - \beta$$

$$\boxed{\gamma - \beta = 2}$$